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(b) does not exist

(c) goes to -oo
(d) equals 1

(e) equals zero
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5. The tunction f (r) :1 ln(r + 1)'
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6. li- j
r--+ -2+ X * 2

(c) goes to -|
(d) goes to zero

(e) goes to I
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r)0
x<0
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(c) has a removable discontinuity at r - 0

(d) has a non removable discontinuity at c - 1

(e) has a removable discontinuity at r - |

\.-.1.\\(x+) -\.n(0 = o

Sry:(l -x) --- \2\+ e

(a) has a non removable discontinuity at z : 0

(b) is continuous on (-oo, m

(a) goes to +oo

(b) goes to -oo
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7. The function f (r\: -a-.. ^--_ ----_-._.- J \*l 
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(b) has 2 vertical asymptotes, moreover ,\f_ /(") 
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(c) has no vertical asymptote
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a) has 2 vertical asymptotes, moreover lim /(r) - -6e
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9. lim rsin fl\ :
r-)rc \r /
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is False abofi f (r) 7
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;r+2, r<2
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-t/2*, r ) 2
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(a) /'(2) exists

(b) /(z) is di

(b)y-4r+z
(")y-zr-+
(d) y -2r+a
(e)y-2x-t

over (0, 2)
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12. The equation of the tangent line to the curve /(o) -- 12 + 2x - L at the point (1, 2)
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13. lim e' + e-' + e:
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14. One statement is false about /(r) - 
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(c) /(") is an even function

(d) Domain of /(r) is (-oo,0) u (0, m)
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(a) r-0 is a vertical asymPtote


